Signature and Name of Invigilator

OMR Sheet No.: ...
(To be filled by the Candidate)

1. (Signature) Roll No.
(Name) (In figures as per admission card)
2. (Signature) Roll No.
(Name) (In words)
Test Booklet No.
J—0509 PAPER —II
Time : 1¥4 hours] SOCIOLOGY [Maximum Marks : 100

Number of Pages in this Booklet : 24

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of
this page.

2. This paper consists of fifty multiple-choice type of questions.

3. Atthe commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are
requested to open the booklet and compulsorily examine it
as below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not accept
an open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the question
booklet will be replaced nor any extra time will be
given.

(i) After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the
OMR Sheet Number should be entered on this Test
Booklet.

4. Each item has four alternative responses marked (A), (B),

(C) and (D). You have to darken the oval as indicated

below on the correct response against each item.

Brample : (2 ® o

where (C) is the correct response.

5. Your responses to the items are to be indicated in the Answer
Sheet given inside the Paper I booklet only. If you mark
at any place other than in the ovals in the Answer Sheet, it
will not be evaluated.

6. Read instructions given inside carefully.

7. Rough Work is to be done in the end of this booklet.

8. If you write your name or put any mark on any part of the
test booklet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render
yourself liable to disqualification.

9. You have to return the test question booklet and OMR
Answer Sheet to the invigilators at the end of the
examination compulsorily and must not carry it with you
outside the Examination Hall.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There is NO negative marking.

TirgmreiEt o forg fder

1. W8 U8 % SR T LM W 319 Tt =R fafan |
2. 9 YE-TS U U vgfashedid g ¥ |
3. e YRE B W, Fe-YRenRT 31Taent < & S | vt Ui fie

YT oA~ Ykt T el Skt Frefafaa si= & forg &

ST TSkt Wi STTIeh! 199 AT & ;

(i) TeI-gR<eR Wie o AT 36k ek U T TN RIS ohi
a1 wIe o | gelt g8 A for T Rie-dia i gfien
EHRAHRL |

(i) HeR UY R BU FEYITHR U9=T-Ufieht o U e Ut ot
AT R TS e ok hL o (o A YT E | Srogut gfeerent
T Ug / U9 ShA & A1 GET ST T B A SEe § A
It feRelt off YeRm ot Ul Yfkaent Tien 1 ahi AT
I T I TAETERT 3Hoh T UR G Tl Uo- et
ol | e feTT 3truent Ui fire fod ST | SHeR se =
AT AUt Y9T-UfTehT aTod ot SIaT 3 T & STuent
sifefien T feam <tmEam

(i) =W ST9 % 9K TA-FKH F1 BT & OMR T T
3ifehd ¢ SR OMR W51 &t 361 €A1 36 T9A-Jfeisht W
SIETETES

e e & feT =R ST fsked (A), (B), (C) @@ (D) fed M €1

3T T IR h ST Bl U I AT HTe] hEAT & S ok

IHCIRIRIDIESY

s (A ® o

ek (C) T8t SR

T o ST Rl W9 U [ o 31a e T2 Sai-veh W ifera

* F 1 Al 317 SR = W e T Gefam  eretren frddt o1

T W IW Fgifrd LA ], A ST edishd T g |

1< fed 3 FeeTt ol AT g |

Fe %M (Rough Work) 30 JRaieht o 310 98 WH |

AfE 3T ITR-YReTRT TR STHT AT 241 U <hiE ot Frem forery ataent

Tea B Tk, foRdlt off 91T W g A sifehd e € o Tlen

ferd st st e fed ST |

STTeRT TET THH B TR 9 JReh T8 OMR STR-9576h e

TEICA T T 3wk € 3R TieT e & =g 39 379 Wy

T E | AL 7 TRt ST |

10. ShaeT Sl / ShTel STeT TS U ol & SEHTT R |
11. Toreit oft W ohT HITUTeR ( FeTepeiex ) a1 AT ot 3Tfe ot

wamara g1

12. TTeTd 3T o 1T 37eh & shie ST |

J—0509

P.T.O.



SOCIOLOGY
PAPER —1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.
Who among the following did emphasise social action as the basis of his theorisation
for the first time ?
(A) Talcott Parsons (B) Alfred Schutz
(C) Max Weber (D) Vilfredo Pareto

What is the basic concept in the definition of social structure as given by Nadel ?

(A) Organisation (B) Role (C) Relationship (D) Status

For Talcott Parsons Adaptation, Goal-Attainment, Integration and Latency are :
(A) Functional Prerequisites (B) Functional Imperatives

(C) Functional Alternatives (D) Functional Universals

Marxian theory offers a radical alternative to :
(A) Functionalism (B) Symbolic Interactionism

(C) Evolutionism (D) Structuralism

Who among the following theorists is of the view that ‘culture is essentially a set of
rules’” ?

alinowski adcliffe-Brown
A) Mal k B Radcliffe-B
(C) Parsons (D) Sumner

Which one among the following is an instance of social action according to Max Weber ?
(A) Persons travelling in a train

(B) Persons opening umbrella when it starts raining

(C) A person performing rituals for ancestors

(D) Two cyclists colliding with each other
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10.

11.

12.

13.

Who among the following did use participant observation for collecting data ?
(A) W.F. Whyte (B) Goldthrope and Lockwood

(C) A. Giddens (D) K. Davis

The square of standard deviation is known as :

(A) Co-efficient (B) Mean (C) Variance (D) Mode

How is co-efficient of variation always expressed ?
(A) As aratio (B) As a percentage

(C) As an average (D) As a summation

Below are given different methods of sampling ? Please identify the method which is
known as non-probability sampling.

(A) Quota Sample (B) Simple Random Sampling

(C) Stratified Sample (D) Multistage Random Sampling

Which among the following is not associated with social science research method ?
(A) Inductive Generalisation (B) Ethical Neutrality

(C) Reliance on empirical data (D) Subjective Interpretation

What is the purpose of exploratory research design ?
(A) To develop hypotheseis (B) To test hypotheseis

(C) To establish causal connections (D) To test a theory

Month wise rainfall data are available for the last ten years. What value should be
calculated in order to identify the years showing least changes in rainfall ?

(A) Standard Deviation (B) Concomitant Variation

(C) Coefficient of Variation (D) Mean Deviation
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14.

15.

16.

17.

What is the appropriate research tool for collecting information from a large group of
educated respondents drawn from a widely scattered area ?

(A) Interview Schedule (B) Case study

(C) Questionnaire (D) Observation

Which one among the following is not associated with quantitative social research ?
(A) Positivism (B) Hermeneutics

(C) Empiricism (D) Induction

Match the items in List-I with items in List-II and choose the right answer from the
code given below :

List-1 List-11
(Reslution) (Thinker)
(a) In-group and Out-group (i) Giddings
(b) Primary and secondary groups (ii) Miller
(c) Horizontal and vertical groups  (iii) Sumner
(d) Genetic and congregate groups (iv) Cooley

(v) Merton

(A) @) (v) @) (@
(B) @) (@v) () (@)
(© (@v) @) ) @0
(D) @) @) @Gv) (i)

Below are given some terms. Please identify which is the term that expresses the material
aspect of the culture ?

(A) Religion (B) Civilisation

(C) Morality (D) Socialisation
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14.

15.

16.

17.
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18.

19.

20.

21.

22.

23.

Which one of the following is the ascribed status ?

(A) Student (B) Teacher (C) Doctor (D) Brahmin

How does evolutionary process take place ?
A) Through all kinds of social change
B

~—

(
( Radical transformation of society

(C) Gradual movement from simple to complex
(

D) Change of society in a definite direction

Which among the following is an example of a community ?
(A) Family (B) Income Group
(C) Refugee Camp (D) Village

In the making of social institution which among the following elements does not play
any role ?

(A) School (B) Customs and folkways

(C) Law and order (D) Social sanctions

Which among the following observations does not apply to the notion of association ?
(A) The nature of association is temporary

(B) Association is formed with intention and goals

(C) Association is a concrete organisation

(D) Association entails community feelings and definite territory

The introduction of sociology in India at formal level took place after it was
well-established in Europe and the USA. Which one among the following is the year
when sociology was introduced ?

(A) 1885 (B) 1896
(C) 1919 (D) 1939
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18.

19.

20.

21.

22.

23.

7 H 9 i e greerdt 8 2

(A) foremeft (B) STEATIH
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SefTHET Tehia1 fohd FhR § Bt 2
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(B) TN H AT 9RenA & R

(C) =l & Tafmear st &R S arel Jie
(D) T Ff=a fown & 9 o feds & g

=1 & 9 9 91 Y 1 SR | 2
(A) UREr (B) 4 WE

&

(C) sromeft frfar (D) &

ST Feenstt o FH § f7 § 9 &F @1 7@ &8 fiest 78 v ?
(A) w=d (B) e TS St
(C) hTT TH e (D) WIS Hefehfd

=1 | @ % e wfufadl & fod v 787 e s ?
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IRAeY § HHISIEIRA 1 YIgHTd S J9 IR 01 # geenfud 89 & =g ga | f= & 9 ad
H 39 sfiuaiies &9 § yrey foman T ?

(A) 1885 (B) 1896
(C) 1919 (D) 1939
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24.

25.

26.

27.

The welfare of the workers in the complex economy of the present time is :
(A) Completely ignored (B) Partly taken care of
(C) Given the highest priority (D) Completely taken care of

Who among the following social scientists did use the term “political socialisation” ?
(A) Almond Powell (B) Herbert Hyman
(C) Herbert Spencer (D) Vilfredo Pareto

Match the items in List-I with items in List-II and choose the right answer from the
code given below :

List-1 List-I1
(a) Looking glass self (i) Karl Marx
(b) Alienation (i) William Ogburn
(c) Cultural Lag (iii) G.H. Mead
(d) Positivism (iv) Auguste Comte

(v) CH. Cooley

Code

(@ @) (© @
(A v @ G (@)
B) @ @) @) (V)
(© Gv) (@) @) @)
(D) @) @Gv) @ (i)

Choose the correct combination of Assertion (A) and Reason (R) from the code given
below :

Assertion (A) : Women’s status cannot be uplifted only through legislative
intervention.

Reason (R) : Social milieu of a society contributes in determining the status of women
in a significant manner.

Code :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false
(D) (A) is false but (R) is true
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24. 3T AT B A srefeazensii § gfae waE el ©
(A) Frguidan Sufer (B) Sif¥rF ®9 ¥ =M T
(C) |G a1 JrefHehdl <1 (D) TFqul §9 ¥ &AM
25. T ¥ ¥ &H 9 grrsies o 3 ¢ TSidieh IraTSieRtor’’ i STaERen Sl Tqd fora ?
(A) TEHTS A (B) ®eiE BEAA
(C) B ER (D) faawmel qw
26. G-I GEli-11 § SIS iR f=ifeRd #Ie & T79R 98l W S :
gai-1 gai-11
(a) ¥ A1 SAEII (i) Tl T
(b) T (i) foef=m sFTeH
(c) Hrehfceh feretrard (i) S.T=. HS
(d) TF&ER (iv) STNTE STl
(v) WLTE F
HIg
(@ B () @
(A) (v) (@) @G) ()
B) @ @) 3§D (v)
Q) (@(v) (i) G @
(D) (i) (v) @ ()
27. 191 ¥ & 1fuehe (A) 9 @k (R) 1 9&1 B 9T :
AFURYT (A) :  had ATHH o ot W Afgeredl st gfeafd sl 391 9 YurT T8l S ehdl |
qeh (R) : et ot TS| 1 WS AR Aiganell ol UTEerd sTieher H Ueh Hacqul
ftreht o %1
ST I H HEl IW HI TG Fifsd
(A) (A) 3R (R) THI T T 3R (A) 1 (R) F&I TR T |
(B) (A) 3R (R) T W&l § TR (A) T (R) Tel TIEHI0 T & |
(C) (A) W& & WR (R) T §
(D) (A) T4 § R (R) 9t ©
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28. Match the items in List-I with items in List-II and choose the right answer from the
code given below :

List-1 List-11

(a) Acculturation (i) A condition in which people may work
together even though there are differences
which separate them.

(b) Integration (ii) A condition in which people of a culture tend
to acquire some elements of other culture and
leave some elements of their own.

(c) Assimilation (iii) A process wherein a minority group gradually
gives up its own cultural patterns and acquires
those of the dominant.

(d) Accommodation (iv) A process of adaptation in which elements of
a culture form a composite whole

Code :

(A) @) (v) @) (1)
B) @ (@) @) ()
(© ) (@Gv) @) @)
(D) @v) (@) @ (D)

29. Which one of the following is not a normature statement offering solution to the problem
of road congestion ?

A) Roads should be widened
B

~—"

(

( People should be discouraged from using private vehicles
(C) Timings should be fixed for different vehicles on roads
(

D) Should look for alternative means of transport

30. Emile Durkheim defines society as :
A) Community of ideas

B) Homogeneous community

C) Moral community

D) Ethical community
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28. -1 o GeRt-11 § GHiferd sifse qen g & o fu e o1 g2 o |98 I g

-1 -1
(a) TIHER(T T () T o feufa foed < fafvemet § W ge ot
THHTY HMH F ¥ |
(b) IR (i) TR ot Feurfa oo T Spfa & @ O IR
Y F9 T o Fed § AR AT I Bie1 =med
S|
(c)  SATHHTHIT (it) Tk =@ GHAT fSIEH Seqders qqg & an Hik-
¥ T Wrepfaeh GfaaM i Sled o § 31X
T HER{qa! Sl o T § |
(d) HHEESH (iv) STIa i 9% hhal faH §&pfd & 7@ &
gl ey § gftferd &
HIT
(@ B () @
(A) () (v) (i) ()
B @) @) () (iv)
Q) @) (@Gv) () ()
(D) (v) (i) @ (i)

29. TTH U -9 Thed TSl & HiS: WIS I THEN & e & forg Sugfw & 22
(A) TR BT =EHT B
(B) St <At e % SEHrE i Jeher
(C) fi=-firs R & el 1 TS W T T T T BT

(D) TH YR o AR ok H€T 6 IR H Qe |

30. THEA gEH 7 AN I U@ qRenfya fwan g1

(A) o= =1 9qe (B) HSII WHEHE
(C)  SToR FHa (D) i T

J—0509 13 P.T.O.



31. Among the following sociologists who did not establish the positive relationship between
population growth and social change ?

(A) Auguste Comte (B) Karl Marx

(C) Max Weber (D) Emile Durkheim

32. ‘Social conflicts are not always destructive but may play integrative role’, who among
the following thinkers did express this view ?

(A) Ralph Dahrendorf (B) Lewis Coser

(C) Karl Marx (D) Max Weber

33. Which among the following is not a component of mode of production ?
(A) Means of production
(B) Forces of production
(C) Instruments of production

(D) Relations of production

34. According to the Parsonian functional paradigm, the equilibrium of the system is
maintained through :

(A) Use of force
(B) Consensus of values
(C) Regulatory Rules

(D) Conventions

35. Which among the following concepts, according to Merton, is capable of theoretically
handling change ?

(A) Eufunction (B) Dysfunction

(C) Non-function (D) Quasi-function
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31. frAfafed § @ F guernsh T8 § s smeen gig aon amfse 9ieds § geres g6y
T2 Tenfud X T ?

(A) ST (B) It O
(C) e FeR (D) 3= gEiH

32. ‘‘mrHifeTeR e gHe foAmTeRRt e Sian afeer aw et yften off famr g1 frefatea §
Y fow foama 7 ¥ fo=m fen T

(A) TeH SBEESG (B) T HISK
(C) <RIt AT (D) o IR

33. frfafed § @ [ e fafy =1 s/ege 78 8 ?
(A) SUEH H HEA
(B) ScdeH wfh
(C) ST I SR

(D) 3cUEH 1 "oy

34. TF¥ YR ¥ TREH & JhAHS JAHM o AR e H Hed 9 3@ S |

(A) ¥IfH Sl SEIHTSA Hleh (B) Tl %l THAT BT

(C) fwaifaa fraw 9 (D) ®feTd Hand @

35. frfafea saarmsti § & &F fagid 727 % STIER 9oy & faw 3T < |

(A) &M (B) TUHTH
(C) 3Y&E (D) Heq-Yehrd
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36. Choose the right answer from the codes given below.
According to Karl Marx, superstructure consists of :

i)  Political system

(

(ii) Legal system

(iii) Forms of consciousness
(

iv) Classes

Code :

(A) (i), (iii), (iv) are correct
(B) (i), (ifi), (iv) are correct
(C) (i), (i), (ifi) are correct

(D) (i), (ii) are correct

37. Given below are two statements, one labelled as Assertion (A) and the other is labelled
as Reason (R).

Assertion (A) : Marx was of the view that workers experience alienation in capitalism.
Reason (R) : Capitalism transforms man’s labour into his means of existence.

In the context of the two statements, which one of the following is correct ?

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B

~—"

(

( Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

38. “Educated Women” is an example of :
(A) Social Group (B) Association

(C) Organisation (D) Social Category

39. Asa social group tribe is closest to :
(A) Community (B) Caste
(C) Association (D) Clan
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36.

37.

38.

39.

= feu T dfedsli # ¥ T&t W A ? Tt AR F SATIR ST g B © 2
()  USHITdeR e

(i) St e

(ili) ST % TTEY

(iv) o

HIg

(A) (i), (iii), (iv) T& 7|

(B) (i), (iii), (iv) Tl 1

Q) (), (i), (iii) & ¥
(D) (i), (i) T 71

=1 # 9 rfirerer (A) 9 deh (R) &1 9 A 9am,

afeRe (A) . W ¥ foeR B goftare § gt srerE @ e 89 3

qeh (R) : YSfteTe AfHeh! i HewTd I Sk e S+ 1 kel HIEF A ST <l § |
S IS § Wl I Al =TI HIf9T

(A) (A) 3R (R) SHI W& T 3R (A) T (R) Tel TSR T |

(B) (A) 3R (R) IF1 Tl & AR (A) T (R) HET TISIH T |

(C) (A) ¥ § TR (R) TTerd ©

(D) (A) Ted § TR (R) 9t §

* frfera Hfgen’ Tk QR €
(A) HHSIH 8 (B) @fafd =
(C) EeH (D) WIS SO 1

TS TE % 9 § SHedE gAs e o 9 frmss wviig g2
(A) THIE & (B) %
(C) wfafa = (D) TA®
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40.

41.

42.

43.

44.

Match the items in List-I with items in List-II and choose the right answer from the
code given below :

List-1 List-11
(a) C.H. Cooley (i) Dramaturgy
(b) G.H. Mead (i) Symbolic interactionism
(c) H. Blumer (iii) Mind, Self and Society
(d) E. Goffman (iv) Human Nature and Social Order

(v)  Ethnomethodology

Code

(@ @) (© @
(A) @ G (v) ()
B @ @) O O
(© (v) @) @) ()
(D) @) @v) (@) (i)

“The caste is an enclosed class”. Identify the thinker among the following who stated
it :

(A) Louis Dumon (B) Dr. B.R. Ambedkar
(C) J.H. Hutton (D) Andri Betteille

Latent function, according to Merton, is :
(A) Intended and recognised (B) Intended and unrecognised

(C) Unintended and unrecognised (D) Unintended and recognised

Conflict theory of Ralph Dahrendorf is based on :
(A) Relations of production (B) Relations of authority

(C) Relations of consumption (D) Relations of possessions

The capacity of women for giving live births is called :
(A) Fertility (B) Morbidity
(C) Fecundity (D) Infecundity
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40.

41.

42.

43.

44.

TAt-1 &l Gell-11 § e iR Fiifrd i % TTOR T&l S| S

g1 geEa-11
(a) HLTA FA () T e
(b) ST He (ii)  UcihlcHe 37=:Thameng
() TE =W (ili) T, @ IR FES
d) 3 MEA (iv) e YHfd IR e e
(v) <eR-ugia fom
FiE :
(@ B (© (@
(A @ @) (v) (i)
B) G @) @O ()
Q) (v) () G) ()
(D) @@ (@v) @ (i)

‘S1fd Tk o< o B T fommen § 9 3 e fRg R R 2

(A) & SgEA (B) I S.3IR. e
(C) SL.u=. g (D) Tseidgat

T & STIER 3TYHS W B © :

(A) e AR A (B) ety aiR =
(C) YR SR 9= (D) STYfE iR A=
T TS & T o Tagid 1 SR T

(A) SR & (B) I WY

(C) SUHHI THTH (D) fHed Ty

T =t fSifera /=1 sl =7 &9 S 75T Sl el ST ¢
(A) TS (B)  STEaEem

(C) SHAETE (D)  STSTHETH
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45. Rural society is an example of :

(A) Association (B) Community (C) Region (D) Nation

46. The discipline which deals with the study of the origin and nature of knowledge is
known as :

(A) Ontology
(B) Phenomenology
(C) Epistemology

(D) Ethnomethodology

47. How does Weber characteristic caste ?
(A) An ethnic group
(B) A community
(C) A closed status group

(D) A congregation of Hindus

48. Choose the correct combination of codes to answer the following.
The functional interpretation of social stratification has been offered by :
(i) Parsons
(i) Lenski
(iii) Davis and Moore
(iv) Tumin
Code :
(A) (i), (ii), (iii) and (iv) are correct
(B) (ii), (iii) and (iv) are correct
(C) (i), (iii) and (iv) are correct

(D) (iii) and (iv) are correct
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45.

46.

47.

48.

IO HHTS Teh 3SR
(A) wfufaar = (B) HHSHI W

(C) &= (D) Tg=t

Teh IS i I o 39T TS Yahid ¥ - T&dl & Haaldl ¢ :
(A) (B) JERITE
(C) (D) e feremet

SoR & TR ST o A&T0 & :

(A) T FoITA TR H (B) T WHIH & w9 H
(C) T =< gfterdt we (D) fege? =t &d gfd

=1 @ Ot I & e I gAIT | WHEISh TR S FehrTcs Sl i ¢ :
(i) —IREH

(i) H®!

(ili) S IR T

(iv) ZIHA

(A) (), (i), (iii) 3R (iv) T& &
(B) (i), (iii) 31 (iv) @&l §
(C) (), (iii) 3R (iv) T &
(D) (iif) 3R (iv) T&l &
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49. Which one of the following does not apply in the case of complex economy ?

A) Trend towards industrialisation

(
(B
(
(

~—"

A system of investment in trade
C) Economic Interdependence

D) Divorce of industry from social needs

50. The division of labour characterised by mechanical solidarity has certain feature as
identified by Durkheim. Which among the following is not that feature ?

(A) Enlarged sphere of collective conscience

(B) Repressive Law

(C) Structural Differentiation

(D) Resemblance

-00o0-
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49. =1 9§ =1 W Sfea stefeTemen W AW 7g g ?
(A) STEfiTRTRTe S WE Tgfa
(B) =R H s it Tk sHae
(C) sfeier grem fefxan
(D) & iR WIS STevaeshast # fawsg

50. 99 % fauH & ey H A WA Tehdl i SETH A Tk ORIy ®9e A g4 98=  of
B = o ¥ 1 98 9 6 R

(A) THfEh T I el ot &=
(B) HTRRI ShId

(C) G faddeto

(D) g

-00o0-
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